W

T
.

1yl Slply stSmata
asl ;S

I
NI

Y gt 1T Mad (V) lay s ol
iy — gl 5. tgmd 13l log (ArAvAvA) k,..gﬁss lost g b3 :g»,a.s?lug.»dm,
@ 2 OB e oyes opejl

Oliver Twist by Charles Dickens

The Cail of the Wild by Jack London N oot s
Aspects of the Novel by E. M. Forster = e == 231 o3ttt (V) S 2 fGa (g S5

R . () 4.
w‘wﬂ‘ﬁ SIPR ;_Ja-‘"* Aely

Based on E. M. Forster's Aspects of the Novel, answer questions: 1 to 10.

1. For the purpose of his lecture, E. M. Forster accepts the definition of novel as ‘
a. which has a certain length b. over 50,000 words &x

c¢. with a protagonist and an antagonist il )

all of them, while writing, enter a common stat&wh’ :

a. prophecy b. fantasy

a. Story has no suspense.
h. Plot ends somewhere and follows.thestle of cause and effect.

nal while in plot it is necessary.

a. history / fiction b. fiction / history

¢. memoir / romance d. romance / memoir

5. What is / are the difference(s) between the world of the novel and the real world?

a. In the world of the novel the secret life is visible.
b. Novel's world is not and cannot be ours.
c. In novel's world the narrator and the creator are one.

d. All above items.
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6. According to Forster, ............ characters are good for comedy, while characters are fit
to perform tragedy.
a. major / minor b. minor / major
c. flat / round d. round / flat
7. Based on Aspects of the Novel, which faculties are necessary to understand the plot?
a. intelligence and knowledge b. suspense and surprise
c. intelligence and memory d. curtosity and inquisi venes
8. What is the similarity between fantasy and prophecy?
a. Both of them are mythological.

b. There are the same gods in both of them.

c. Both of them introduce chaos but go towards u

e best example of a prophetic novelist (i.e. one who uses prophecy in his work)?

b. Conrad ¢. Hardy d. Dostoyevsky

Based on Jack London's The Call of the Wild, answer questions from 11 to 20.

11. The events of the story take place in 1897. What changes happen during this era?

a. Revolution takes place.
b. People from all over the world travel north for the gold in Klondike region.
c. People from all around the world experience economic depression.

d. Civil war takes place.
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12. In Seattle, where Buck’s crate is lifted into a small yard, Buck finally learns a lesson which he
calls "my introduction into "primitive law". What 1s that lesson?

. He cannot stand against a man with a club.
. Being right brings power.
. He should obey the man in order to be fed.
. There is no reward for those who do not work hard.

3. What does buck understand from what happens to Curly, theyferna ~gne her tragic fate?

a. Spitz and his band are dangerous.
. Female dogs are dangerous.

. In order to survive, he should never go down ind\f _’

o 7him the friendship of Billee.

&p ginning of chapter three, The Dominant Primordial Beast, what is the cause of fight

between Spitz and Buck?
. Spitz takes Buck's food.
. Buck takes Spitz's food.
. Buck sleeps in Spitz's space and ignores Spitz.

. Spitz sleeps where Buck used to sleep the nights before.

Lo llS gaslah ol glur a3 503 5L (055 ol S obT 50T slo Y AR Sl pls
www.Sanjesh3.com OV -AFOA-AN www.SanjeshT.com



W

1yl Slply stSmata

asl ;S

7z
S

i

A

Y gt 1T Mad (V) lay s ol
iy — gl 5. tgmd 13l log (ArAvAvA) k,..gﬁss lost g b3 :g»,a.s?lug.»dm,
@ 2 OB e oyes opejl

Oliver Twist by Charles Dickens

The Cail of the Wild by Jack London N oot s
Aspects of the Novel by E. M. Forster = e == 231 o3ttt (V) S 2 fGa (g S5

16. One morning, Dolly, one of the dogs, goes mad and chases Buck. What does Francois do to end
this fight?
a. He whips Dolly violently.
b. He whips Buck violently.
c. He kills the mad dog with an ax.
d. He sets Dolly free so that it can no more fight with the other dogs

17. After Perrault and Francois disappear from Buck's life,

travel?

a. Back to California / to do government's orders.

c. Seattle / to reach the gold str
d. Skagway / to cover the Thirt

b. They are attached by another sled.
c. They are sho{ hw stfanigers. d. They drown in dark water.
'k v master who saves Buck's life, loves Buck and proves to be an ideal master?
hornton b. Hal ¢. Charles d. Judge Miller
20. As years pass, the Yeehats notice a change in the local breed of timber wolves. What is the reason
of that change?

a. A dog joins the wolf pack.
b. Wolves are hunted by local dogs.

¢. Thornton changes their breed.

d. Buck makes the wolves leave the region.
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Based on Charles Dickens' Oliver Twist, answer questions from 21 to 30.

21. Upon children’s lot Oliver is sent to ask more food at supper. What is the result of his request?
a. Mr. Bumble decides that the children should have more food.
b. Mrs. Mann gives Oliver more food.
c¢. The authorities are so shocked that they offer 5 pounds for any
d. The authorities have a meeting and decide that each child s
22. After Noah insults Oliver's mother, they have a fight afte
and 1s locked in the cellar. What happens next morning?
a. Oliver escapes to the workhouse.
b. Oliver runs away from Soweberry's housg
c. Sowerberry sends Oliver ba

d. Sowerberry sends Oliver bac

(e LN u
Iears him of all charges at the court.

24. After Nancy turns Oliver back to Fagin's house, what is Fagin's plan for Oliver so that finally

Oliver does whatever Fagin asks?
a. Makes Nancy pretend that she is Oliver's sister.
b. Makes Oliver associate with the Dodger and Charley more and move.
¢. Locks Oliver in the room and gives him no foods until he gives up.

d. Isolates him from other boys so that he becomes thankful for any human contact.
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25. Mr. Losberne takes Oliver to visit Mr. Brownlow. But they discover that Brownlow, Mrs.
Bedwin and Mr. Grimwing
a. are all afflicted by measles. b. have moved ti the west Indies.
c. are all dead. d. retuse to visit Oliver.
26. What is Mrs. Maylie's idea about Harry's love for Rose?
a. She believes that Rose's social status may ruin Harry's ambitio ) pritand society may
defeat his love.

b. She warns Harry that it he marries Rose, she will leave th

a. Monk is Oliver's brother.

b. She was the one who kidnap ver on his errand for Mr. Brownlow.
¢. Monk does not want apyone stands about Oliver's identity.

d. All above items. \

28. Noah Cla SI drChiarlotte escape to London after robbing Mr. Sowerberry and
. [ : 'J‘

29. Who follows Nancy to London Bridge to eavesdrop her conversation with Mr. Brownlow and

Or Oliver. b. start their own robbery gang.

d. are sent to jail upon their arrival.

Rose?
a. Noah b. Fagin c. Sikes d. Charlotte
30. Why do Mr. Brownlow and Oliver visit Fagin on his miserable last night alive?
a. To console him.
b. To express their gratitude.
c¢. To find the location of papers which tells about Oliver's identity.

d. To find about Nancy's destiny and her true location.
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